Linear fit for channel 1
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Residuals for channel 1
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Residuals for channel 2
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Residuals for channel 5
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Residuals for channel 9
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Residuals for channel 14
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Residuals for channel 21
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Residuals for channel 26
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Residuals for channel 45
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Residuals for channel 61
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Residuals for channel 62
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Residuals for channel 95
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Residuals for channel 96
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Gain

Vs Channel
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Channel Gains
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Offset Vs Channel
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Pedestal Vs Channel
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Pedestal Width Vs Channel

ADC pedestal Width
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Channel Width}s
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Average Noise vs DAC x2 I ndf 0.3371/6

Mean value of ADC noise
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